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Aufgabe 14

Viinfer =a-a-a=a

a)

b)

o)

3

V = 6% =216 [cm®]
O = 6-6% =216 [cm?]

V =43 = 64 [dm®]

O = 6-4% =96 [dm?|

0,5-10 = 5 [dm]

V =53 =125 [dn°]

0 = 6-5% =150 [dm?]

125 : 1000 = 0,125 [m°]
150 : 100 = 1,5 [m?]

Owu-rfel:6~a~a:6~a2

a)

b)

4]

Kantenldnge

6 cm

4dm

05m

Volumen

216 cm®

64 dm>

0,125 m3

Oberflicheninhalt

216 cm?

96 dm?

1,5 m?
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d)
2,5-10 = 25 [dm]
V = 25% = 15.625 [dm°]
O = 6-25% = 3750 [dm?]
15.625 : 1000 = 15,625 1]
3750 : 100 = 37,5 [m?]
e)
V=1=1[m’
0=6-12=6[m?]
f)
V =100 = 1.000.000 [m°]
O = 6-100% = 60.000 [m?]
d) e) f)
Kantenlénge 25m 1m 100 m
Volumen 15,625 m3 1m3 1.000.000 m3
Oberflicheninhalt 37,5 m? 6 m? 60.000 m?




